ave A qo at these:

Do the best you can do.
Use .a wuritten .method.

hiright =

L25+238= 663
/ 387 - 152 = 235

[5X3 = 45

_, 2453 + 2654 = 5/07
/ Y 564 - 247 = 317

56 X 3 =168

age | /4318+21582 =95900
N (6274 2756 = 3918
272 X 3= 816
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ave A qo at these:

Do the hest you can do. ikght =
Use .a wuritten .meth.od.

/ 243 + 128 = 371
1653 - 242 = [4]I

25 X 4 =100

/-.-;,; 5241 + 3483 = 8724
~ ./ 1654 - 382 = 1272

63 X 3 = 189

B 2435 + 276 + 765 = 3476
» 6804 - 4372 = 2428
345 X 7 = 2415




ave A go ot these:

Do the hest you can do. | right -
Use .a written .method.

243 + 638 = 88|
692-428= 264
L2X5= 210

3 2876 + 876 = 3752
/ ) 8852 - 638 = 824
63 X 4 = 252
3281 + 8721 = 12002

> 8073 - 2525 = 5548
272 X 7 = 1904
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ave A qo at these:
Do the hest you can do. gt DAA'_[,-

Use .a written .method. 80,

543 + 192 = 735
/53 - 223 = 530
28 X 3= 84

o 2351 + 1748= 4099
/ ) What is the difference hetween 5498 and 3674
" 156 X 3= 468 1824

3472 + 537 + 87 = 4096
3206 - 1729 = 1477
What is the product of 469 and 9

™
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ave A qo at these:
Do the best you can do. et D_,GJA,_S

Use .a written .method. i, 2q0,2_,
543 - 217 = 326

36X3 = 108

)L—,;; What is 35, 84 .and 132 altogether 25|
"/ /' 845 - 378 = 467

247 X 6 = |482

S4L2 + 632 = |74

| - -

-~ What is 265, 894 .and 9 altogether 1168
14705 - 938 = 3767
284 X 7 = 1988

>




